Word Problems Day 2 Foudations.notebook September 19, 2019

1. You are given the simple interest formula
here I 1s the simple interest earned
dy principle p at an annual interest rate r
over t years. You depdsit $250 in a bank
account that pays an annual inferest rate of

2%. How much simpl-‘é-ri‘nterest will you
carn after two years?
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1. The sum of 38 and fwice a numberis 124. Find the number.
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2. The sum of two consecutive integers is losaian 83. Find the pair of integers with the
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_R= 124w

3. Arectangle is hn longer than it is WldJI’rslperlme’rer is é8m’F|nd ifs Wnd width.
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4. The length of a rec’rongle is 4 cm more than the width and the perimeter is c1’r Ieos’r 48
cm. What are the smolles’r possible dimensions for the rectangle? P -—
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5. Find three consecutive integers whose sum is 171.
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6. Find four consecutive even integers whose sum is 244,
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A > ¥ J=S-l 7
7. Alex has twice as much money as Jennifer. Jennifer has $6 less than Shannon{Jogether

they have $54. How much money does each have? - \2.
A=2 T S=\® %: 2.4 -
J=S-b>>S=3+0 “4J ¥ l=SH

A+ J+ S= 54 T= "@’

2T + T +~J+ =>4 *1:1

8. There are three exams in a marking period. A student received grades of 75 and 81 on
the first two exams. What grade must the student earn on the last exam fo get an average

of no less than 80 for the marking period?
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